(
D) Deeksha

Sample Paper 2

Time: 3 hrs M.M:80
General Instructions:

i.  The Questions paper comprise of five sections: A, B, C, D, and E. You are to attempt all the sections.
il. All questions are compulsory.
iii.  Internal choice is given in section B, C, D & E.
iv.  Question numbers 1 and 2 in section -A are one mark questions. These are to be answered in about 1
(one) word each.
v.  Question numbers 3 to 5 in section-B are two mark questions. These are to be answered in about 30
words each.
vi.  Question numbers 6 to 15 in Section-C are three marks questions. These are to be answered in about
50 words each.
vii.  Question numbers 16 to 21 in section-D are five marks questions. These are to be answered in about
70 words each.
viii.  Question numbers 22 to 27 in section E are based on practical skills. Each question is a two marks
question. These are to be answered in brief.

Section A

Q1.A mendelian experiment consisted of breeding tall pea plants bearing violet flowers with short pea plants
bearing white flowers. The progeny all bore violet flowers, but almost half of them were short. Write the
genetic makeup (genotype) of the tall parent. X1

TS HSfor gt & Tt o o gt dhelt o7 WehR0T I i gt Oiel § R R TS Idfd & 3t o S
TR S0 I T 1Y W S U gUI &S e Urell 1 S1aifRres Yo (Sirersy) fafed |

Q2.How much potential difference (voltage) is generated by a solar cell .write any one limitation of using

solar energy. X1

IR A foramT fayd fauToR( o™ )I@ HRa1 g1 TR Sl & ST &1 Dis T AT ol |

Section B

Q3. Draw the structure of Propanoic acid and Butanone. X2

MNIAES 3 3R KeHH S AT [ 91— |

Or

Write all the isomers of Pentane?

o o gt gHTGYg forfad»

Q4. What is reflex arc? Draw it for the tennis player hitting a tennis ball during play. X2

yfaadf Ty fear 82 Y fIarct & @ & SR Y §id &) AR /8 & o ufdadf =g
a'_'llgal
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Q5. One half of a Convex lens is covered with a black paper. Will this produce a complete image of the
object. Draw a labeled diagram to justify your answer. X2

TP I o B BT BTN F 31T &b Qa1 § 131 U8 T o1 guf ufafed s fas gomy smm 3w
D1 gfP il |

Section C

Q6. A shiny brown coloured element X on heating in air becomes black in colour. Name the element X and
the black coloured compound formed. Write balanced chemical equation for the above. X3

TP DI YR UGS X HI §aT A TH S+ R I HIAT I AT 8 | x Terd 3R I gU HIat uerd &1
1 fafRad | Sa! Aqferd I sifiyfaal o fafad

Q7. Write the formula, use and chemical reaction for the formation of chloride of lime? X3
FARZS 3F ARH BT IS I, IUANT 3R 39 fAafor o1 Imafe sifufeat fafed
Or

Under what soil condition do you think a Farmer would treat the soil of his fields with quick lime or slaked
lime ?

3T SR U [haT fohd SfaRiT & a7 | T T3S TN Hxdl g2

Q8.i. Give a chemical test to distinguish between saturated and unsaturated hydrocarbon?

ii. Why is reaction between methane and chlorine in the presence of sunlight considered a substitution
reaction. X3
T U IS U0 gRT AqW 3R SRiqW gIsgidbad | 3R Wy fHhfor |
11 G4 & USRI A WA SR TR & ofig ffiatat o) gfairae sifiiferar ot AT S g |

Q9. i. How does Auxin promote the growth of a tendril around a plant.
ii. Name the growth inhibitors in plants. X3

. TP UeU R Bl yam & gfg A SifRs $9 ger™dr &-al g |
I1.0G0 B gfa faRiyen! & =Y iforl |

Q10.i.How does the reproduction in Amoeba differs from that of Paramecium.

ii. What is the importance of Vegetative Propagation in Plant. X3

1. e A O IRTHRIH & o1 3 [P TR fHa g |
17. UICUl H HI% Uy ST RT AT ¢ |
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Q11. State Snell’s law. Light enters from air to diamond with refractive index 2.42.what is the speed of light
in diamond? (Given speed of light in air is 3x10®ms™). X3

o F1 g el | I A USRI 2. 42 SUTAID a1 TR H =T BT o | TR H YT D I 7
g |

Or

i. Your are provided with two lenses of focal length 20cm and 30 cm, respectively ,these lens can diverge
the light. Which lens will you use to obtain more divergent light? Name these lens.

ii. An object is placed at a distance of10cm from a lens of Power 4D.Find the position of the image
formed.

I .39 % 979 FA 20cm ¥ 30cm FIHH G o &l o g ST STR19T il FATET HL T g | i 97
ST TRTET T STATIEF AT hear? o o=t % a9 forfery |

T1.TF 9% 4D &HAT AT o7 & 10cm T 9¥ *uq g | wfafaa &t Rl &1 afiemes Sifmn

Q12. Resistance of a metal wire of length 2m is 30 ohms at temperature 25°C, if diameter of the wire is
0.6mm, then what will be the resistivity of the metal at that temperature? X3

2m T 9T & AL AT 25°C 9 IALre 30 Ohm gl IS T8 AL FHT ATH 0. 6mm T AT ST rerhal &l
TR Hlora?

Or

i. An electric heater of 500 W operates 12hr/days. What is the cost of the energy to operate it for 30 days
at 4 rupees per kWh?
ii. State Joules law of Heating.

I. 500 W &7 U& f9ggq e 12hr Tidfed seaaTd gratg. =9 30 T % seadtd fed T2 4 =99
T kWh T € | Foha«T @41 g

II.3« &7 ard e forfemn

Q13. i. Name the alloys commonly used in electrical heating devices .

ii. How can three resistors of resistance 2, 3 and 6 ohms be connected to give total resistance of a.4
ohms and 1 ohm. X3

i,  Torea ardi ST ¥ SEAATA eI aretl TS gt & A e

ii. 2,3,3T 6 ohms AT NIALIerhl &l e THIT STIET AT T Foed TrALre

a) 4 ohms EIE8 b) 1 ohm
T 31
Q14. What changes can you make in your habits to become more environmental friendly? X3
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TTEAL FEIR(T a9 & (o T 9T saar 7 ohe T & aiEd fn

Q15. i. Explain the concept of sustainable development. X3

II. Listtwo advantages associated water harvesting at the community level.

I.9qq fawre &1 999 7 qui H15 |
II.5 — H=39 & GHEF T2 9T T AT qaqrei|

Section D

Q16.i.Two ores A and B were taken .on heating ore A gives CO, whereas ore B gives SO,.what steps will you
take to convert them into metals? X5

ii. What is electrolytic refining?

| 27350 A T BH A &l TH % TL CO, AT B &l TH XA UL SO, IcI7 AT &l T2 4T &
qrEtad F % T oy |

11 TRy srree oo F=T 2 |

Q17.i.Write the merits and demerits of MendeleeVv’s periodic table. State the MendeleeVv’s periodic law.

ii. How the metallic character varies in group and periods of modern periodic table. X5

I.HEoAd il e JTel o 07 2Y [0 I HEA e &7 eiad Ha9 2o |
I ST Sfrad |Toi § gTqias 07 998 U SEd (e e (9= 2rar gl

Q18.i.Define Excretion. Name the basic filtration unit present in the kidney.

ii . Draw a neat labeled diagram of excretory system and a Nephron. X5

| . ST [ TIEATIO HITord | 5 il (Fedaeh Sars ol 919 forred|
1. ST T ST FFHI] FT sifeha = a1 |

Or
i. How the sex is get determined in human. Explain.

ii. What are Fossils? what do they tell us about the process of Evolution.?

| . ATHE § ToRT f9ei=or 58 grar 1 avid e |
II.SaTew F47 g1Tg FEere &t T 3 a1 |/ 47 9d7d g2

Q19. i. Write events occurring in flowering plant after fertilization.
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ii. Where does the fertilization takes place in Female reproductive system. what is placenta? Write its
function. X5

|. oIt OTEAT § U= % 97& FT HeAT 7 |
II.HTaT S a7 § U= Figl grar g wieer F#T & |TaFT w1 9 forfa)

Or

i. what are the different methods of contraception.
ii.What could be the reasons for adopting contraceptive methods.

| 79 Hrere & Rt adien 47 5
1.7 TRLTee o STTRT % FT AT 31 Tohd gl

Q20. i. A student has a difficulty in reading the blackboard while sitting in the last row. What could be the
defect the child is suffering from? How can it be corrected ? Explain with suitable diagram. X5

ii. Why do we observe difference in Colours of sun during sunrise, sunset and noon.

T .U Taeareft &7 Fear 7 s Ufxh ¥ 939 9% soadl I¥ (o7 91&a1 &l @ § Il gral gl o=t
e T g ff=T g 298 3w fohm wahe senfera frar ST aear g ISt = gam e firfs.

ii. AT, TUET 3T AT il FTET § qIoT o W1 § g9 F47 (2@Ts a7 gl

Or

i.  Why we observe advance sunrise and delayed sunset? Explain.
ii.  Write the function of retina, iris, eyelid and cornea of human eye.

i . ST AT T Aetaa qaiea #41 f@Ts a1 & 2 H0 €€ Hife.
ii . JTHE 95 7 At | afartianr |, 3eud i qadt & wr ot

Q21. i. State Fleming’s right hand rule. X5
ii. Write the principle of working of an electric generator
iii Differentiate between AC and DC

i . FATHRT T &1 2o (9 difor|
11 faeRa St 1 Rrgia i fafe forfemn
iii AC 3T DC W (A< ¥IE Ao

Section E

Q22.what do you observe when few drops of sodium hydroxide(NaOH) solution is added to three test tubes
containing red litmus, distill water and phenolphthalein. X2
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FAT ENT T AT NaOH Y %1 g N uwarterat # =1 fomw e fferaer & @mer foreww, s ot sie
[EEIEZEIC]

Q23.What is observed when ferrous sulphate is heated continuously in a test tube. Write the equation for it
and name the type of reaction in this case. X2

T GLEATAT H FTH Hohe il AT TH e 1 9707 forfem) =& Tramafas Gt &1 /mw ua g
forferr

Or

What happen when dilute hydrochloric acid is added to solid sodium carbonate in a test tube then. Write
chemical equation for it.

FAT NI 1 A IS S IFANE FFA Fl S HISAH HAAe § AT S0 =6 F7aT it e aeiseor
orfer

Q24.A student is observing a permanent slide showing sequentially the different stages of asexual
reproduction taking place in yeast. Name this process and draw diagrams of what he observe in a proper
sequence. X2

T T 7 TS T AT ST & (ST F2070 T #q7E FAT3E 7 qeqg= taniza f=fer &1 am o @
TITS TATEE W a6 TS LM o gl H 7 = a9727 |

Q25.write the steps involve in preparing temporary mount of leaf peel to show stomata. X2
FoRET It H Tl T A&7 F o6 Tordl STEATAT SAT0T AT T a0l Fehl AT & FL01 hl gH [ a1
Or

Draw experimental set up to show that carbon dioxide (CO,) is given out during respiration. Why KOH is
used in it.

e a1 /¥ CO, ITAH BIAT & Tl AATTIT ¥ o TART T HFeAT = IA1TH TIRT § KOH  F47 TeaH T
2T 2l

Q26.An object of height 2 cm is placed at a distance of 40 cm from the optical centre O of a convex lens of
focal length 20 cm. Draw a ray diagram to find the position and size of the image formed. Mark optical
centre O and principle focus f on the diagram. Also find the approximate ratio of size of the image to the size
of the object. X2

2.0 cmFATE FHIE @7 40 cm FIHT T 6 ITA AF & THIAF 5% 0 H 20 cm T 92 (09T &89
T Tiatad = Al ofiT ATes FTq e i Fh0T 3 aaTe | T 3@ § THI190% 6% O TIT & Tl
F sifea it sfafss &t 3= o fava i 391 &1 et stqoa of s fifee

Or
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In a glass prism experiment, if a ray of light is incident normally on one of the faces of the prism then what
will be the angle of refraction? Draw a diagram to trace the path of the rays of light through a glass prism
and Label the angle of deviation in it.

T o TISH TRT § TRTLT 6T ATaTaa Foheor e TS9 F U T2 o AT9eres § arafad gral af af sTqafad wior

TohaeIT ST 1= o TS AT ThTLT T STIAd T Y@T (= TAThe (oo I ATHihd iy |

Q27. State ohms law. Three student X,Y and Z while performing the experiment to study the dependence of
current on the potential difference across a resistor, connects the ammeter(A),the battery(B),the key(K)and
the resister (R) in series in the following three different orders.

X-=2B,K,R,A,;
Y-= B,AKR;
Z-->B,R,K,A,. who has connected them in the correct order? X2

arw =1 e ol | fiF Fraaeftat x Y sfiv z 7 o 3 R & gaanfog 29 & oy afier a
), FEet (B ), TSl (K) 3T TTALrersh &l &0t FF H TR ST /7 H @l

X->B,K,R,A;

Y-> B,AKR ;

Z->B,R KA . T faeamff #1#w @21 g |

Nurturing Success of every child https://deekshalearning.com




